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Year 2/3 Maths 

Main activity ANSWERS 

Complete at least 2 columns, more if you can! 

Task 1 Task 2 

Practice 
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 apple < jam 

pineapple > milk 

toothpaste = apple 

orange > strawberry 

bananas = donuts 

Cabbage < pineapple 
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Jacob is incorrect because both bags weigh the 

same 

 

 

 

Jacob is incorrect  

 

 

 

 

 

 

 

Task 3 Task 4 

Reasoning  
Explain your answers.   

 

 Problem  solving     

Jacob is incorrect because both bags 

weigh the same 

Simon is correct, the strawberries are 

lighter than the pear 

Jenny has used the 

wrong symbol. She 

has written that the 

tomatoes weighs 

more than the 

oranges. The scales 

show that the 

tomatoes are 

lighter than the 

oranges. She should 

have written the 

tomatoes < the 

oranges. 

There are 4 

pears. 

4 x 10 cubes = 

40 cubes. 

40 cubes = 2 

pineapples. 

So: 20 cubes = 

1 pineapple. 

Various possible answers, for example: 50g, 60g, 70g 

Pair of scissors = 45g 
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Further Challenge! 

 


